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PART No.1006 PART No. T Tz L A H HE(g)
L 1006= 6 G Y R Y 37.5 325 19 55
A 1006= 9 G % R % 42.5 355 22 80
1006=12 G % R % 50 41 27 115
) 1006=19 G ¥ R ¥% 57 47 36 220
o) 1006=25 G 1 R 1 63.5 51.5 41 305
\%{2 - 1006=32 G4 | R14 | 695 57 50 550
1006 =38 Gl1Y% R1% 70 59.7 60 670
L e 1006=50 G2z | R 2 69 70 1120
PART No.1007 PART No. T T2 L H HE(g)
L 1007= 6 G Y Re Y4 30 19 30
1007= 9 G % Re % 34 22 50
1007=12 G % Re % 40 27 80
. ﬁh’”—\_:,‘ , 1007i19 G % Re % 45 36 160
— 5 1007 =25 G 1 Re 1 49 41 220
1007 =32 Gl1Y RelyY 55 50 360
1007 =38 G1} Rell4 55 60 450
i o 1007 =50 G 2 | Re 2 66 70 710
PART No.1008 PART No. T Ts L A H Hi(g)
L 1008= 6 G Y Re ¥4 34 29 19 65
A 1008= 9 G % Re % 39 32 22 80
1008=12 G U Rc % 45 36 27 105
- 1008=19 G % Re % 50 40 36 220
T ﬁh__ 1008=25 G 1 Re 1 545 42.5 41 285
\%zf)’: 1008=32 G14 | Rely4 62 495 50 440
1008 =38 G1% Rel¥ 62 515 60 600
(e 1008=50 G 2 Rc 2 75 60 70 970
PART No.1009 PART No. T, T2 L H HE(g)
1009= 6 G Y R 4 34 19 40
L 1009= 9 G% | R % 38 22 60
1009=12 G % R % 46 27 100
A W 1009=19 G% R % 52 36 150
: 1009=25 G 1 R 1 58 41 240
1009=32 Gl R1Y4 64 50 390
1009=38 Gl R1Y% 64 50 410
1009 =50 G 2 R 2 77 63 680
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PART No.1010 PART No. T L H T2 (g)
L 1010= 6 G Y 41 19 85
1010= 9 G % 47 22 110
1010=12 G Y 52 27 130
1010=19 G % 58 36 270
‘;%L&u &y C 1010=25 G 1 62 41 360
N 1010=32 G1Y 71 50 590
1010=38 G1% 74 60 800
1010=50 G 2 89 70 1260
PART No.1011 PART No. T L H B (g)
y 1011= 6 G Y% 34 19 40
1011= 9 G % 38 22 55
1011=12 G 4% 46 27 90
A ] 1011=19 G % 52 36 150
3 | | T 2 1011=25 G 1 58 41 210
1011=32 GlY4 64 50 410
/ H\ 1011=38 G1% 65 50 390
1011=50 | G 2 77 63 600
PART No.1013 PART No. T T2 L H HE(g)
1013= 6 GY | RY 37 19 40
L 1013= 9 G% | R% 405 22 60
1013=12 G4 | RY 48 27 100
[ S U 1013=19 G ¥ R ¥ 53.5 36 170
B : %g 1013=25 G 1 R 1 585 41 230
1013=32 G1¥ | Rl1Y4 66 50 430
. e . 1013=38 G1% | R1y 66 50 420
1013=50 G 2 R 2 77 63 640
PART No.1033 PART No. Ti Tz A D d H BE(g)
A 1033= 6 G Y R Y4 24.0 25.0 5 16 50
1033= 9 G % R % 27.0 30.0 8 19 100
1033=12 G % R Y% 32.0 36.0 10 24 150
U e -
b%r ﬂ 1033=19 G % R ¥% 36.5 43.0 16 30 290
€ 1033=25 G 1 R 1 40.5 50.0 215 36 450
1033=32 G1Y4 R1Y4 49.5 57.5 28 45 750
HT‘ = 1033=38 G1% R1% 52.0 63.0 33 50 970
T: 1033=50 G 2 R 2 61.5 73.5 44 63 1540
E_
PART No.1034 PART NQ Ti Tz A D H d HiE(g)
A 1034= 6 G Y4 R Y4 21.0 25.0 16 5 60
1034= 9 G % R % 27.0 30.0 19 8 100
1034=12 G % R Y% 32.0 37.0 24 10 150
==”_W 1034=19 G % R % 36.0 44.0 30 16 280
2 ! 3 1034=25 G 1 R 1 41.0 51.0 36 22 460
5 | 1034=32 G1% R1Y4 475 57.5 45 27 800
_n e 1034=38 G1% R1% 49.0 63.0 50 33 980
i ./ L 1034=50 G 2 R 2 61.5 74.0 65 44 1620
¢d
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PART No.1035 PART No. T, T, A D H d |Eg,)
1035= 6 GY | RY | 210 19 16 5 40
- - 1035= 9 G% | R% | 2356 | 23 19 8 60
Y 1035=12 GY% | R4k | 280 27 24 10 110
——— 1035=19 % | rR% | 315 30 30 16 200
g% - 1035=25 G1 |R1 33.0 34 36 22 300
\ 1035=32 G14 | rR14 | 410 40 45 27 510
" 1035=38 Gl% | R1% | 440 42 50 33 620
T T 1035=50 G2 | R 2| 500 50 63 44 1020
PART No.1036 PART No. T, Tz A D d H [E&()
1036= 6 CGY | RY 19 19 5 16 40
A 2. 1036= 9 G3% | R3% | 22 22 8 19 70
0 1036=12 G% | R¥% 26 27 10 24 120
™ 1036=19 G% | RY% 30 30 16 30 200
3 IR 1036=25 G1|R1 34 34 22 36 300
; 1036=32 Gl4 | R14 42 40 27 45 530
T /oy 1036=38 G1% | rR14 43 41 33 50 620
L m} 1036=50 G2 |R2 51 50 44 63 1010
PART No.1060 PART No. T1 T2 A B D H P d |omgo
A 10600 6 G ¥ | R Y, 245 195 25.0 19 16 5 75
5 10600 9 G % | R %% 285 23.0 30.0 22 19 8 110
R 10600 12 G ¥, R ¥ 33 25.0 37.0 27 24 10 175
. E:I j 10600 19 G % |R % 38 30.0 45.0 36 30 16 325
8@)&/ 10600 25 GO1 | RO 43 35.0 51.0 41 36 22 520
10600 32 GlY, R1Y, 57 450 575 50 45 27 900
HHex /P ZHE¥E = 1060 0 38 Gl%, R1%Y> 63 52.0 58.0 60 50 33 1260
1060 0 50 GO2 RO2 89 75.0 64.0 70 63 44 1620
b
PART No.1061 PART No. T T2 A B D H P BE&(g)
1061= 6 GY | RY | 21.5 | 180 20 19 16 70
A . 1061== 9 G% | R% | 26.0 | 190 23 22 19 100
1061=12 GY% |RY% [ 28.0 | 220 27 27 24 140
- Z 1061==19 G% | RY% 32.5 24.5 30 36 30 180
e - 1061=25 G1]|RrR1 ]| 35| 270 34 41 36 340
“{/ﬁ 1061232 G14 | r1Y4 | 44.5 | 350 40 50 45 750
) 1061238 G1% | R1% | 47.0 | 365 4 60 50 1140
g /b —giw o 1061=50 G2 |R2 55 41.0 50 70 63 1370
PART No.1088 PART No. TAY L X%.4 HE(g)
. 1088= 6 G Y 40 19 30
1088= 9 G % 43 22 50
1088=12 G % 50 27 90
1088=19 G % 55 36 170
1088=25 G 1 59 41 230
1088=32 G1Y4 71 46 350
1088 =38 G1% 69 50 430
1088=50 G 2 77 63 670
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PART No.1089 PART No. TAY A Al E wE(g)
N 1089= 6 G Y 26.5 24.5 16 80
1089= 9 G % 32.0 27.0 19 80
1089=12 G Y 37.0 32.0 24 140
1089=19 G ¥% 45.0 38.5 30 290
1089=25 G 1 54.0 43.0 36 470
1089=32 G1Y4 59.0 50.0 45 740
<
1089=38 G1Y% 63.0 52.0 50 970
1089=50 G 2 75.0 62.5 63 1770
PART No.1091 PART No. Ty B L B, Y HE(g)
1091= 6 G Y 24.5 49 26.5 17 65
1091= 9 G % 27.0 54 32.0 19 85
1091=12 G % 32.0 64 36.0 26 150
1091=19 G ¥y 36.5 73 45.0 32 300
1091=25 G 1 40.5 81 48.0 36 485
1091=32 G1Y 50.0 100 57.0 45 760
1091=38 G1% 52.0 104 63.0 50 990
1091=50 G 2 62.5 125 73.0 65 1800
PART No.1092 PART No. Tia% | T2 Y L X% | HE(g)
. 1092= 6 G Y | NPT 4%| 370 19 30
1092= 9 G 3% | NPT %| 405 22 50
1092=12 G % | NPT %| 480 27 90
el e | 1092=19 G % | NPT %| 535 36 170
5 1092=:25 G 1 |NPT 1| 575 41 230
1092=132 G1Y4 | NPT14%| 69.0 46 350
1092=138 G1% | NPT1%| 66.0 50 430
1092="50 G 2 |NPT 2| 820 63 670
PART No.1093 PART No. T2y | TeAY C D Y. | EHR(g)
¢ 1093= 6 G ¥ | NPT %| 240 25.0 16 60
1093= 9 G 3% |NPT %| 270 30.0 19 80
1093=12 G % |NPT %| 320 36.0 24 140
1093=19 G¥% INPT #H| 365 43.0 30 290
1093=25 G 1 |NPT 1] 405 50.0 36 470
1093=32 G1Y4 |NPT1%| 495 57.5 45 740
° 1093=38 G1¥% |[NPT1%| 520 64.0 50 970
1093=50 G 2 |NPT 2| 615 745 65 1770
PART No.1073 PART No.| A L PART No.1074 PART No.| C L
1073=12 Y% 57 JIS2IMPa 7 7w 3T 78— 1074 —12 % 64
1073=19 % 67 1074—19 % 72
£ G A w
1073=25 1 75 W e 1074—25 1 84
L 1073=32 | 14 80 I A fﬁj 1074—32 | 14 87
1073=38 | 1% 90 § 1074—38 | 1% | 103
4 1073=50 2 107 . 1074 —50 2 118
. 1073=65 | 2% 110 1074—65 | 2% | 129
1073=175 3 113 107475 3 126
SN 75T
79 v VHE 1073=100| 4 133 IR
SHA. SHB. SSA, SSB

5K, 10K
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(SAER & > 5 —F 7Ly vr—o ) —X) EREY | G b =
PART No.1075 ) 1075=12 Y 30.2 42
1075=19 % 38.1 50
1075=25 1 4.5 52
o _: . 1075=32 1% 50.8 62
© y 1075 =38 1% 60.3 70
1075=50 2 71.4 78
L
27y POULEF SHES G A B D
SAERZ 5 —FTL vy v—1)—X) 1076=12 % 58 80 30.2
PART No.1076 B 1076=19 % 65 90 38.1
1076 =25 1 80 110 44.5
; 5 1076=232 1% 100 135 50.8
/ 1076=38 1% 120 150 60.3
- . 1076=50 2 140 170 71.4
¢ D
27) vy M5 LERTF SHES G A B D
(SAER S > 5 —F 7L v r— 1) —X) 1077=12 % 50 65 30.2
PART No.1077 < B 1077=19 % 55 80 38.1
1077=25 1 65 95 4.5
1077=32 14 75 110 50.8
1077=38 1% 85 125 60.3
1077 =50 2 95 140 71.4
AR FTITTH— LEES G A B
PART No.1078 1078=12 Y 75 80
B . 1078=19 % 85 90
” 3
/ 1078=25 1 105 110
. 1078=32 1% 125 135
- 1078=38 1% 140 150
1078 =50 2 160 170
-3
G
60°
AR KPP 5T — SHES G A B
PART No.1079 ¢ B 1079=12 1% 70 65
1079=19 % 75 80
1079=25 1 90 95
1079=32 1Y% 100 110
1079 =38 1% 115 125
1079=50 2 130 140

130 11



mF Ul KhOAT N U

PART No.1021 PART No.| A E F PART No.1022 PART No. | A E F
. 1021= 6 | G ¥% | 14 | 21 T102=6 gl | 14 |2
/“ 1021= 9 | G % | 17 | 25 1022= 9 | G % | 17 |27.5
o 1021=12 { G % | 22 | 28 1022=12 | G % | 22 |30
T 1021=19 | G % | 27 | 32 1022=19 | G % | 27 | 33.5
] 1021=25 | G 1 | 36 | 34 1022=25 | G 1 | 36 |35.5
s 1021=32 | G1Y4 | 46 | 40 1022=32 | G1Y4 | 46 | 42
L 1021=38 | G144 | 50 | 40 1022=38 | G136 | 50 |42
— 1021=50 | G 2 | 63 | 47 1022=50 | G 2 | 63 |47
PART No.1023 PART No.| A G D PART No.1024 PART No. | A G D
1023=6 | G Y4 | 24 19 1024= 6 | G 4| 24 | 19
/—’\— 1023= 9 | G % | 27 | 22 /695\ 1024= 9 | G 3% | 27 | 22
1023=12 | G %4 | 30 | 27 ‘ 1024=12 | G % | 30 | 27
~ 1023=19 | G % | 32 | 36 - . 97\—’%, 1024=19 | G % | 32 | 36
W""’“ 1023=25 | G 1 | 36 | 41 [ 1024=25 | G 1 | 36 | 41
i 1023=32 | G1¥% | 40 | 50 ‘ Do 1024=32 | Gl14 | 40 | 50
G 1023=38 | G1% | 42 | 60 L . 1024=38 | G114 { 42 | 60
- 1023=50 | G 2 | 47 | 70 o 1024=50 { G 2 | 47 | 70
PART No.1037 PART No. T4 A B E
1037= 6 R 4 23 25 16
r_\_— 1037= 9 R % 27 31 19
e 1
= e TR T e s
= y :
1037=25 R 1 43 54 36
= 1037=32 R1Y 49 57 45
1037=40 R1% 55 65 50
1037=50 R 2 61 76 63
PART No.1038 PART No. Thy A B E
1038= 6 R Y 21 19 16
A . 1038= 9 R % 22 22 19
Tay 1038=12 R % 30 27 24
> ¢ 1038=19 R % 31 32 30
' 1038= 25 R 1 35 34 36
1038=32 R1Y4 50 43 45
— 1038=38 R1% 45 45 50
1038=50 R 2 54 52 63
PART No.1059 PART No. T, T: A D H P | HE()
N 1059= 6 Y% % 25 25.0 19 16 75
1059= 9 % 3% 29 30.0 22 19 110
1059=12 Y Y 34 36.0 27 24 175
1059=19 % % 39 44.0 36 30 325
1059=25 1 1 43 51.0 41 36 520
1059= 32 1% 1% 52 57.5 50 45 900
1059=38 1% 1% 55 58.0 60 50 1260
1059= 50 2 2 68 73.5 70 63 1620
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PART No.4021

gy

B

PART No.4025

PART No.4026

—
L
PART No.4027
To% Ty

SAEfR—XAX0 45 —

PART No. T4y B L d X H"E (g)
40210 40 4 % — 20UNF 14.2 35 4.5 14 15
40210 60 6 9% — 18UNF 14.2 35 7.0 17 45
40210 80 8 % —16UNF 17.0 42 10.0 23 95
40210 100 10 7% — 14UNF 19.0 51 12.0 26 150
40210 120 12 1%:—12UN 22.0 54 15.5 32 170
40210 140 14 13— 12UN 23.0 57 18.5 36 190
40210 160 16 13— 12UN 23.0 57 22.0 36 200
40210 200 20 1% —12UN 24.2 62 27.0 46 330
40210 240 24 1%—12UN 24.2 62 33.0 50 340
40210 320 32 244 —12UN 33.8 80 44.0 65 400

PART No. TUBE OD T4y D'y H HE (g)

40250 2 % %;— 24UNF 4.58 10 4

40250 3 3%, 3% —24UNF 6.15 12 6

40250 4 A % —20UNF 7.74 14 8

40250 5 % 5 —20UNF 9.50 17 10

40250 6 % 9%, — 18UNF 11.20 19 15

40250 8 % %4 —16UNF 14.48 23 30

40250 10 % % —14UNF 17.70 27 50

40250 12 % 14— 12UN 21.20 32 75

40250 14 % 13:—12UN 2440 36 80

40250 16 1 13— 12UN 27.65 38 95

40250 20 1% 1% —12UN 34.25 50 110

40250 24 1% 1% —12UN 41.10 58 350

40250 32 2 214 —12UN 55.10 77 690

PART No. TUBEOD | ¢ D'y L+0.5 HE (g)

40260 2 % 3.30 8.64 1.5

40260 3 % 4.91 8.64 2.0

40260 4 4 6.48 10.40 2.8

40260 5 % 8.09 11.10 3.2

40260 6 3% 9.65 12.70 4.0

40260 8 % 12.84 14.23 5.0

40260 10 54 16.02 16.80 8.0

4026 0 12 % 19.21 17.50 10.0

40260 14 % 22.38 19.30 15.0

4026 0 16 1 25.57 19.80 20.0

4026 0 20 14 32.04 23.00 35.0

4026 0 24 1% 38.40 28.60 55.0

4026 0 32 2 51.20 30.30 83.0

PART No. T4 T2A L X |EE (g
40270 40 4 Ys—20UNF NPT X 33 14 25
40270 60 6 9%, —18UNF NPT % 37 19 45
40270 8O 8 % —16UNF NPT % 45 24 80
40270 100 10 7% —14UNF NPT % 49 27 160
40270 120 12 14—12UN NPT % 52 32 170
40270 140 14 13— 12UN NPT 1 57 36 200
40270 160 16 13— 12UN NPT 1 57 36 210
40270 200 20 1% —12UN NPT 14 63 46 330
40270 240 24 1%—12UN NPT 1% 67 50 410
40270 320 32 245 —12UN NPT 2 75 65 650
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PART No0.4028 PART No. T4 Tt Y L X HeE (g)
‘ ‘ 4028= 4— 4 % — 20UNF R Y 33 14 25
Tet2 LKk 4028= 6— 6 % — 18UNF R % 37 19 45
4028= 8— 8 % —16UNF R 1% 45 24 80
4028 =10—12 % — 14UNF R % 49 27 160
— % 4028=12—12 | 14— 12UN R % 52 32 170
& N 4028=14—16 | 13— 12UN R 1 57 36 200
4028=16—16 | 13— 12UN R 1 57 36 210
. 4028=20—20 | 1% —12UN R1Y 63 46 330
~ 1028=24—24 | 1% —12UN R1% 67 50 410
4028=32—-32 | 24%6—12UN R 2 75 65 650
PART No.4029 PART No. Tk To# v C D Y.o. |HE (g)
4029= 4— 4 %—20UNF | NPT Y4 23.0 24.5 17 50
¢ 4029= 6— 6 %—18UNF | NPT % 24.2 30.0 19 70
4029= 8— 8 3% —16UNF| NPT % 31.0 36.0 24 130
D 4029=10—12 %—14UNF | NPT ¥% 36.0- 39.0 30 150
r ] ) 4029=12—12 | 14— 12UN NPT % 39.0 39.0 30 270
~." 4029=14—16 | 13— 12UN NPT 1 42.0 50.0 36 430
. . 4029=16—16. | 15— 12UN NPT 1 42.0 50.0 36 450
kiks 4029=20—20 |1%—12UN NPT 114 475 57.5 45 700
Ay 4029=24—24 | 1% —12UN NPT 1% 52.4 63.0 50 920
| 4029=32—32 | 2% —12UN NPT 2 57.9 75.0 65 1700
PART No0.4030 PART No. Tik Tz v C D L0 | EB (g)
4030= 4— 4 % —20UNF R % 23.0 25.0 16 50
¢ 4030= 6— 6 9%, — 18UNF R % 242 31.0 19 70
4030= 8- 8 3{ —16UNF R % 31.0 37.0 24 130
4030=10—12 7% — 14UNF R ¥ 36.0 45.0 30 150
i 7 4030=12—12 | 14— 12UN R % 39.0 45.0 30 270
= 4030=14—16 | 1%—12UN R 1 42.0 54.0 36 430
4030=16—16 | 15— 12UN R 1 42.0 54.0 36 450
a 4030=20—20 | 1% —12UN R1Y4 47.5 57.5 45 700
4030=24—24 | 14— 12UN R1% 52.4 64.0 50 920
= 4030=32—32 |24 —12UN R 2 57.9 75.0 65 1700
PART No.4031 PART No. NES Y C D Y 7E (g)
4031= 4— 4 Z%—20UNF | NPT Y4 18.7 19 16 35
i < 4031= 6— 6 9% —18UNF | NPT % 21.4 23 19 55
4031= 8— 8 3% —16UNF| NPT % 26.0 27 24 120
9 T e— 4031=10—12 %—14UNF| NPT % 31.0 32 30 185
"% 4031=12—12 | 14— 12UN NPT % 31.0 32 30 230
: 4031—=14—16 | 13— 12UN NPT 1 34.0 34 36 260
4031=16—16 | 1%—12UN NPT 1 34.0 34 36 270
Tk 4031=20—20 | 1% —12UN NPT 1Y 41.0 41 45 550
y 4031=24—24 |1%—12UN NPT 1% 44.4 42 50 650
Tk y 4031=32—32 | 2% —12UN NPT 2 48.4 50 65 1250
PART No.4032 PART No. Ti%y T4 C D Y HE (g)
\ 4032= 4— 4 % — 20UNF R Y 18.7 19 16 35
8 £ 4032= 6— 6 % — 18UNF R % 21.4 23 19 55
4032= 8— 8 3 —16UNF R % 26.0 27 24 120
Q T le— 4032=10—12 7% — 14UNF R ¥ 31.0 32 30 185
"= 4032=12—12 | 14—12UN R % 31.0 32 30 230
1032=14—16 | 134—12UN R 1 34.0 34 36 260
) 4032=16—16 | 1%—12UN R 1 34.0 34 36 270
hizs 4032=20—-20 | 1% —12UN R1Y4 41.0 41 45 550
v 4032=24—24 | 1%—12UN R1% 4.4 42 50 650
(XL 4032=32—32 | 2%—12UN R 2 48 .4 53 65 1250
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PART No.4035 PART No. T % B C X HE (g)
o B 40350 4 s — 20UNF 23 26 17 60
40350 6 9% — 18UNF 27 28 22 75
e (| 40350 8 3% —16UNF 32 35.5 27 140
o } 40350 10 74— 14UNF 37 37 27 140
“ 40350 12 1%~ 12UN 42 41 36 300
40350 14 13— 12UN 44 45 36 450
9 40350 16 15— 12UN 46 46 41 600
J 40350 20 1% —12UN 52 49.5 50 940
] 40350 24 1%—12UN 59 65.2 60 1700
—TH Y
PART Nod03g BART No. THo B c X |EE @
40360 4 Ys— 20UNF 18.3 24.0 17 40
Tay . 40360 6 8 —18UNF 21.1 28.5 22 60
40360 8 3 —16UNF 24.9 35.5 27 130
40360 10 7% —14UNF 28.2 35.8 27 130
4036 12 1%—12UN 32.5 36.8 36 150
4036 0 14 13— 12UN 35.3 41.1 36 270
4036 0 16 1%G—12UN 37.4 45.2 41 550
4036 0 20 1% —12UN 40.4 51.5 50 650
. o 4036 0 24 1%—12UN 45.2 57.2 60 1200
PART No.4037 PART No. TV B [ D X 2= (g)
40370 4 % — 20UNF 23.0 46 30 17 70
S B_,E__B_. 40370 6 9% — 18UNF 27.0 54 33 22 80
- 40370 8 % —16UNF 32.0 64 40.5 27 180
40370 10 7% —14UNF 37.0 74 46 27 200
40370 12 1%—12UF 42.0 34 49.5 36 370
40370 14 13— 12UF 44.0 88 53.5 36 600
40370 16 13— 12UF 46.0 92 58 41 950
4037 0 20 1% —12UF 52.0 104 62 50 1200
40370 24 1%—12UF 59.2 118.4 65.8 60 1900
PART No.4038 PART No. T B C D X BE (g)
c 4038 0 4 % — 20UNF 23 49 26 17 70
le— B——ste—— D——»f 4038 0 6 %—18UNF 27 59 32 22 80
40380 8 % —16UNF 32 67 35 27 180
4038 0 10 % —14UNF 37 79 42 27 200
= W A \ 4038 0 12 14%-—12UN 42 85 43 36 370
] Sy 4038 0 14 13— 12UN 44 90 46 36 600
‘ —kﬂl | | 4038 [ 16 13— 12UN 46 96 50 41 950
& 4038 0 20 1% —12UN 52 108 56 50 1200
Ty < 4038 0 24 1%—12UN 59.2 125 65.8 60 1900
{ PART No. Tube 0.D T#Y A B $ d ¢ C
N 4039= 6— 4 XY Js— 20UNF 14.2 24.6 4.3 12.75
4039= 8— 4 BxY Us— 20UNF 14.2 25.4 4.3 17.32
PART No.4039 4039= 8— 6 VX% 9%— 1I8UNF 14.2 25.4 7.0 17.32
4039=10— 4 % XY %:— 20UNF 14.2 26.2 4.3 20.23
— R 4039=10— 6 56X 3% %— 18UNF 14.2 26.2 7.0 20.23
,\Q% Al 4039=12— 4 Y XY %~ 20UNF 14.2 27.7 4.3 24.7
i r- 4039=12— 6 % X% %— 18UNF 14.2 27.7 7.0 24.7
L I 4039=12— 8 Y XY 3% —16UNF 19.0 30.2 10.0 24.7
i L © 4039=12—10 3 X% % —14UNF 21.0 31.5 12.3 24.7
® ;T 4039=16— 8 1.xY% 3 —16UNF 19.0 33.3 10.0 31.1
- l 4039=16—12 1 XY Ye—12UN 24.0 37.4 16.5 31.1
T4y 4039=20—-12 | 14 %% | 14%—12UN 24.0 38.1 16.5 39
4039=20—14 | 14 %X 1 | 134—12UN 24.0 39.1 18.5 39
4039 =20—16 | 1% X1 | 1%—12UN 24.0 39.1 22.5 39
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PART No.4040 PART No. TV A C Al HiE(g)
N 4040 0 4 %—20UNF | 26.5 17 24.5 50
4040 0 6 % —18UNF 32.0 19 27.0 70
4040 0 8 % —16UNF 37.0 24 32.0 120
4040 O 10 7% — 14UNF 45.0 30 36.5 185
4040 0 12 14— 12UN 45.0 30 36.5 220
4040 O 14 134— 12UN 54.0 36 40.5 460
4040 O 16 15 —12UN 54.0 36 40.5 470
4040 0 20 1% —12UN 59.0 45 50.0 730
4040 O 24 1% —12UN 63.0 50 52.0 950
4040 O 32 214 —12UN 75.0 65 62.5 1720
PART No.4041 PART No. T4Y B C HiE(g)
40410 4 % — 20UNF 22.6 45.2 70
. ¢ o 40410 6 1 - 20UNF 241 48.2 75
40410 8 9 — 18UNF 26.9 53.8 80
— 4041 0 10 3/ —16UNF 31.8 63.6 80
f\éﬁﬁa ; 4041 0 12 7% — 14UNF 36.8 73.6 00
¥ : —+ 40410 14 14—12UN 42.2 84.4 70
! ; 4041 0 16 13— 12UN 43.9 87.8 00
7 4041 O 20 15— 12UN 46.0 92.0 50
hs THY 4041 0 24 1% —12UN 52.8 105.6 1200
- 4041 0 32 1%—12UN 60.7 121.4 1900

130 16



